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il 100.0 0.0 50.0 375 6.3 6.3 0.0
ER 6 0 5 9 2 0 0

= B
RLR o 100.0 0.0 313 56.3 125 0.0 0.0
2 11 0 5 5 0 1 0

B
ROR o 100.0 0.0 455 455 0.0 9] 0.0
emn | EE 10 0 : 5 1 2 2
~ % 1000 0.0 200 500 100 200 0.0
ER 6 0 4 6 4 0 2

B
PR 100.0 0.0 250 375 25.0 0.0 125
ER 3 0 i 6 4 0 2

8
RER o 100.0 0.0 77 46.2 30.8 0.0 154
Los | EE 13 0 4 2 1 5 1
~ % 1000 0.0 30.8 5.4 77 385 77
wam | EB 10 0 3 4 2 1 0
BEx L% 100.0 0.0 300 40.0 20.0 10.0 0.0
= | EH / 0 2 3 ! 0 !
~ % 1000 0.0 28.6 42.9 143 0.0 143
gme | EH 2 0 i 6 3 i 1
=T % 1000 0.0 8.3 500 250 8.3 8.3
eon | EH 10 0 : 8 0 0 :
AT T % 1000 0.0 200 80.0 0.0 0.0 0.0
_ ER 43 0 12 23 7 1 0

=] 8
RER o 100.0 0.0 279 535 6.3 23 0.0
rER |[BX 12 . : : : : 0
~ % 1000 0.0 6.7 58.3 83 6.7 0.0
e | R 14 0 2 2 4 4 2
% 1000 0.0 143 143 286 286 143
am | EX 28 0 10 3 2 2 1
kAR % 100.0 0.0 35.7 16.4 71 7] 36
e | EE 10 0 [ 2 5 1 1
7T % 1000 0.0 10.0 20.0 500 10.0 10.0
sn | EB E 0 6 8 3 0 i
% 1000 0.0 33.3 144 6.7 0.0 56
ER 22 0 4 2 3 3 0

J=] B
ERER o 100.0 0.0 182 54.5 136 136 0.0
EX 11 0 2 6 1 2 0

B
ARR o 100.0 0.0 8.2 545 9] 8.2 0.0
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Q@ INEREHE

INEREE (HERZ)
21K 0 1~10 11~30 | 31~50 | 51~100 | 101 Mt
o | EH 932 21 594 245 40 26 6
% 100.0 23 63.7 263 43 28 06
ay | ER 100 4 88 6 1 1 0
’ % 100.0 40 88.0 6.0 10 10 0.0
ers | EE 16 0 13 0 3 0 0
R AN % 100.0 0.0 81.3 0.0 18.8 0.0 0.0
wzm | ER 18 1 11 5 1 0 0
s % 100.0 56 611 278 56 0.0 0.0
e | EH 18 0 12 4 1 0 1
~ % 100.0 0.0 66.7 2072 56 0.0 56
me | R 12 2 9 1 0 0 0
™ % 100.0 16.7 75.0 83 0.0 0.0 0.0
e | EB 6 0 5 i 0 0 0
~ % 100.0 0.0 833 16.7 0.0 0.0 0.0
mam | ER 22 1 17 ] 0 0 0
N % 100.0 45 773 18.2 0.0 0.0 0.0
e | ER 20 1 11 8 0 0 0
FA % 100.0 50 55.0 40.0 0.0 0.0 0.0
rm | ER 13 0 6 6 0 1 0
™ % 100.0 0.0 46.2 46.2 0.0 77 0.0
pEg | EX 21 0 14 5 1 1 0
"IN % 100.0 0.0 66.7 238 48 48 0.0
s | EE 40 1 20 18 1 0 0
HER % 100.0 25 50.0 450 25 0.0 0.0
ea | ERK 44 2 20 17 4 1 0
TR % 100.0 45 455 386 9.1 23 0.0
_ EH 27 1 9 11 1 5 0
R % 100.0 37 333 407 37 185 0.0
was)m | BB 14 1 7 5 1 0 0
Rk 100.0 71 50.0 357 71 0.0 0.0
smm | EH 17 0 9 5 0 2 1
o % 100.0 0.0 529 294 0.0 11.8 59
am | ER 8 0 5 i i 1 0
=R % 100.0 0.0 625 125 12,5 12,5 0.0
e | ER 14 0 11 3 0 0 0
™ % 100.0 0.0 786 214 0.0 0.0 0.0
mrm | R 9 0 7 2 0 0 0
~ % 100.0 0.0 778 2072 0.0 0.0 0.0
yEe | ER 11 1 7 3 0 0 0
o % 100.0 9.1 636 273 0.0 0.0 0.0
cmm | ER 32 1 28 3 0 0 0
~ % 100.0 31 875 9.4 0.0 0.0 0.0
paE | EH 23 0 15 8 0 0 0
™ % 100.0 0.0 652 348 0.0 0.0 0.0
pme | R 24 0 16 6 0 2 0
~ % 100.0 0.0 66.7 250 0.0 83 0.0
= EH 40 0 21 13 3 2 1
ZRIR % 100.0 0.0 525 325 75 50 25
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NP E (BRI

24k 1~10 | 11~830 | 31~50 | 51~100 | 101 Lk
—sm | EX 20 0 9 8 2 1 0
=" [ % 100.0 0.0 45.0 400 10.0 5.0 0.0
wame | EH 10 0 5 5 0 0 0
T % 100.0 0.0 50.0 50.0 0.0 0.0 0.0
EX 22 1 17 3 0 0 i
S T 100.0 45 773 13.6 0.0 0.0 45
EX 20 1 7 8 2 1 1
A | 100.0 5.0 35.0 40.0 10.0 5.0 5.0
rga | EX 25 0 1 12 i 1 0
~ETE % 100.0 0.0 44.0 48.0 40 4.0 0.0
spm | EH 16 1 14 0 i 0 0
T % 100.0 6.3 875 0.0 6.3 0.0 0.0
EX 16 0 13 3 0 0 0

= =
SRR T 100.0 0.0 81.3 18.8 0.0 0.0 0.0
ame | BB 1 0 10 0 i 0 0
T % 100.0 0.0 90.9 0.0 9.1 0.0 0.0
eme | EX 10 0 6 3 i 0 0
~ % 100.0 0.0 60.0 30.0 10.0 0.0 0.0
EX 14 0 7 5 0 2 0

=]
MR e 100.0 0.0 50.0 35.7 0.0 14.3 0.0
EX 12 0 7 3 0 1 i

=]
By 100.0 0.0 58.3 25.0 0.0 8.3 8.3
uom | EH 13 0 4 6 3 0 0
T % 100.0 0.0 30.8 46.2 23.1 0.0 0.0
man | EM 10 0 7 2 i 0 0
mET % 100.0 0.0 70.0 20.0 10.0 0.0 0.0
=)m | EX 6 0 3 2 i 0 0
T % 100.0 0.0 50.0 33.3 16.7 0.0 0.0
gmn | BN 12 0 5 6 0 1 0
=ET % 100.0 0.0 417 50.0 0.0 8.3 0.0
e m | M 9 0 9 0 0 0 0
PR % 100.0 0.0 100.0 0.0 0.0 0.0 0.0
- EX 41 0 27 13 i 0 0

= 7 |2
E 100.0 0.0 65.9 31.7 24 0.0 0.0
rae | EX 12 0 9 i 2 0 0
T % 100.0 0.0 75.0 8.3 16.7 0.0 0.0
sin | EM 14 0 4 7 2 1 0
% 100.0 0.0 28.6 50.0 14.3 7.1 0.0
e | EX 27 1 20 5 0 1 0
T % 100.0 3.7 741 185 0.0 3.7 0.0
EX 11 0 1 9 0 1 0

VAN|=|
o T 100.0 0.0 9.1 81.8 0.0 9.1 0.0
spm | EX 18 0 16 i i 0 0
% 100.0 0.0 88.9 5.6 5.6 0.0 0.0
EX 23 1 14 6 2 0 0

I=] =]
2=k Ty 100.0 43 60.9 26.1 8.7 0.0 0.0
\ EX 1 0 8 2 1 0 0

§ =]
e 100.0 0.0 72.7 18.2 9.1 0.0 0.0
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@ HBEE-EREOHK
Bas -BTRE0H (HERZ)
51~ 101~ 201
21K 0 1~10 | 11~80 | 81~50 | 74, i Lk

6k B 900 19 45 174 131 169 174 188
% 100.0 21 5.0 193 146 18.8 193 20.9
mn | BB 102 3 5 39 21 22 10 2
e % 100.0 2.9 4.9 38.2 20.6 21.6 9.8 2.0
era | E% 15 0 2 3 4 1 2 3
R AR % 100.0 0.0 13.3 20.0 26.7 6.7 133 20.0
wxg | ER 19 1 0 4 3 4 3 4
e % 100.0 5.3 0.0 211 15.8 211 158 211
e | B 17 0 1 6 1 2 2 5
™ % 100.0 0.0 59 35.3 59 118 118 204
me | ER 12 2 0 3 1 0 5 1
™ % 100.0 16.7 0.0 25.0 8.3 0.0 417 8.3
e | ER 7 0 0 1 0 2 4 0
7o % 100.0 0.0 0.0 143 0.0 28.6 571 0.0
_ E# 23 1 1 9 4 3 3 2

==N|=|
wER % 100.0 43 43 391 174 13.0 13.0 8.7
e E# 20 1 0 2 0 6 7 4

3 =]
KRR % 100.0 5.0 0.0 10.0 0.0 30.0 35.0 20.0
EH 15 0 0 1 2 4 5 3

=]
AR % 100.0 0.0 0.0 6.7 133 26.7 33.3 20.0
EH 20 0 1 8 3 1 5 2

=]
ABR % 100.0 0.0 5.0 40.0 15.0 5.0 25.0 10.0
szl | EX 39 1 1 2 4 16 9 6
it % 100.0 2.6 2.6 51 103 410 231 15.4
o B 40 2 1 2 6 7 8 14

=]
T3RR % 100.0 5.0 25 5.0 15.0 175 20.0 35.0
+ B 30 2 0 3 3 3 8 11
R % 100.0 6.7 0.0 10.0 10.0 10.0 26.7 36.7
I 15 i 0 3 2 2 2 5
N g 100.0 6.7 0.0 20.0 133 13.3 133 33.3
: B 15 0 1 1 0 2 2 9

N =]
HRR % 100.0 0.0 6.7 6.7 0.0 133 133 60.0
e | ER 9 0 1 2 0 0 2 4
=N % 100.0 0.0 111 22.2 0.0 0.0 20.2 444
e | ER 14 0 0 3 1 4 2 4
™ % 100.0 0.0 0.0 214 71 28.6 143 28.6
msm | ER 8 0 0 0 0 5 2 1
mITn % 100.0 0.0 0.0 0.0 0.0 62.5 25.0 125
Lme | EX 11 1 3 0 1 2 2 2
N % 100.0 9.1 27.3 0.0 9.1 18.2 182 182
emm | EH 31 0 4 13 4 7 1 2
T % 100.0 0.0 129 419 129 22.6 3.2 6.5
E# 22 0 0 0 6 5 8 3

=]
e 8217 % 100.0 0.0 0.0 0.0 273 22.7 36.4 136
EH 23 0 1 1 8 6 3 4

=]
ks % 100.0 0.0 43 43 34.8 26.1 13.0 174
B 38 i 3 8 5 4 6 11

% =]
ERR % 100.0 2.6 7.9 211 132 105 15.8 28.9
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Bas - HWAREOH (BERZ)

51~ 101~ 201

21K 0 1~10 | 11~30 | 31~50 100 500 S E
—s: E¥ 19 0 2 1 4 3 5
= % 100.0 0.0 105 5.3 21.1 15.8 211 26.3
E¥ 10 0 0 1 1 1 5

Fel=Nl=|
HER % 100.0 0.0 0.0 10.0 10.0 10.0 20.0 50.0
e E¥ 20 1 2 6 4 2 3 2
5 % 100.0 5.0 10.0 30.0 20.0 10.0 15.0 10.0
E¥ 16 0 1 0 3 1 5 6
B AT % 100.0 0.0 6.3 0.0 18.8 6.3 31.3 375
EER E¥ 22 0 0 1 1 4 8 8
e % 100.0 0.0 0.0 45 45 18.2 36.4 36.4
. E¥ 16 1 1 4 6 2 1 1
N % 100.0 6.3 6.3 25.0 375 125 6.3 6.3
E¥ 15 0 0 5 2 3 4 1
Gl =]

AR % 100.0 0.0 0.0 33.3 13.3 20.0 26.7 6.7
- E¥ 10 0 1 0 2 3 3 1
AR % 100.0 0.0 10.0 0.0 20.0 30.0 30.0 10.0
. E¥ 10 0 1 1 0 0 3 5

S % 100.0 0.0 10.0 10.0 0.0 0.0 30.0 50.0
E¥ 11 0 1 3 0 3 0 4

B
S % 100.0 0.0 9.1 27.3 0.0 27.3 0.0 36.4
E¥ 11 0 0 3 2 2 1 3

=]
NSl % 100.0 0.0 0.0 27.3 18.2 18.2 9.1 27.3
e E¥ 14 0 1 0 1 1 2 9
“ % 100.0 0.0 7.1 0.0 7.1 7.1 14.3 64.3
- B 8 0 0 2 1 0 2 3
I % 100.0 0.0 0.0 25.0 125 0.0 25.0 375
=8 E¥ 6 0 0 0 1 0 1 4
“ % 100.0 0.0 0.0 0.0 16.7 0.0 16.7 66.7
BER E¥ 9 0 1 1 2 1 0 4
=R % 100.0 0.0 11.1 11.1 22.2 11.1 0.0 44.4
=41 E¥ 8 1 0 1 0 2 3 1
mATIN % 100.0 125 0.0 125 0.0 25.0 375 12.5
_ E# 39 0 2 11 8 9 6 3

= =]
R R % 100.0 0.0 5.1 28.2 20.5 23.1 15.4 77
e ¥ 11 0 0 1 2 4 3 1
= % 100.0 0.0 0.0 9.1 18.2 36.4 27.3 9.1
i E¥ 13 0 0 0 3 0 4 6
oo % 100.0 0.0 0.0 0.0 23.1 0.0 30.8 46.2
e 8 E¥ 24 0 1 5 2 8 4 4
“ % 100.0 0.0 42 20.8 8.3 33.3 16.7 16.7
E¥ 11 0 1 0 1 0 5 4

yANI| =]
AR R % 100.0 0.0 9.1 0.0 9.1 0.0 455 36.4
E¥ 18 0 2 5 3 4 3 1

==
=R % 100.0 0.0 11.1 27.8 16.7 22.2 16.7 5.6
A E¥ 23 0 2 5 0 6 5 5

sl I 100.0 0.0 8.7 21.7 0.0 26.1 21.7 21.7
. ¥ 11 0 1 4 3 2 1 0
N B
HRR % 100.0 0.0 9.1 36.4 27.3 18.2 9.1 0.0
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(5) AEXEAFIEIRE EMBFH

@ EEXEAHBHEERORKRARE

AEIERNEREEOREEE (H—R%)

E37N BRIRLTLND BRIAL TLVAEL

on B s 2 =
b s =
EHRE %f& 10023 621,2 37,2
EFR r%/fi 1002.3 5512 441?1
=ps %f& 1002,3 7(3.; 29.;
HE f%/fﬂl 10(},8 57139 42.213
IpiA S %f& 10(},8 70.(7) 30.8
BER r%/f&z 105)8 552g 4412
IR %f& 1002,(3) 5213 471.é
AR A 900 5 57
mER LF 500 750 75
SieE %fi 1051,8 914.2 8-3
FER %f& 10(?,8 793.2 2(3.3
BHIRED %f& 1 051,8 85?.3 1 5.8
IS %f& 1002,8 781.2 21 ?
FaR L s 797 58
2R %f& 10(},2) 9(3.8 9.1
BINE f%/fﬂl 10(},8 9312r 6.;
BHE %f& 10(},(2) 911; 8.;
e r%/f& 10(},8 6619 33.2
EHE %f& 1058 712.2 281;
I 5 18 %f& 1002,3 791.2 20.2
B IR %f& 1002,8 722.1r 27.2
FRE f%/fﬂl 1058 7433r 25123
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AEIERNEREEOREEE (H—R%)

21K FAIAL TS FAEAL TLMERL
_ EX 22 15 !
p— =|
==y % 1000 68.2 31.8
EH 11 9 2
20 |5
HEE % 1000 81.8 18.2
E% 24 18 0
RERAT % 1000 75.0 25.0
% 26 20 °
PN % 100.0 76.9 23.1
E 28 23 5

EEE
EER % 1000 821 17.9
san |EB 22 ] 3
~RRER % 100.0 50.0 50.0

EH 8 4 14

o/ =]
AL E % 1000 22.2 77.8
R 14 8 0

8
SER % 1000 57.1 429
B 13 11 2

=|
SRR % 100.0 84.6 15.4
Y 19 18 1

8
fit] | L) 1] % 1000 947 5.3
E# 18 15 3

=|
LEE % 1000 83.3 16.7
Y 15 E 2

8
sy % 1000 86.7 13.3

wan | EH 14 2 12
mER % 1000 143 85.7
sg [EX ! ; 0

ST 100.0 100.0 0.0

= B 12 10 2
== =|

FRE % 100.0 83.3 16.7

maR X T 5 ;

= AR % 100.0 64.7 35.3

N Y 49 32 1/
= =|

2 1R % 100.0 65.3 34.7

Y 18 15 E
20 |5

ERR % 100.0 83.3 16.7

RIgIE EH 18 / 1

IR % 100.0 38.9 61.1
o E# 29 23 6
B % 100.0 79.3 20.7
EH 14 14 0

LN\ B

RpE % 1000 100.0 0.0

n EH 20 9 ]
8
=Yg % 1000 45.0 55.0
EH 24 16 8
=] =]

EREER % 1000 66.7 33.3
\ EH 16 1 2
N 8
HiEIR % 1000 68.8 31.3

207




Q@ HEFEXEARHFHBHEZERORIE(TE)FH

AEXEAFIBREEECRB(TE)KE (HE—REZE. HEEHE)

254 | 264 | 274 | 284 | 294F | 30&F | 31 &
E# 1170 5 361 442 177 84 1 109
% 100.0 0.1 0.4 30.0 37.8 15.1 1.2 0.1 9.3
B 121 0 11 47 27 25 0 11
% 100.0 0.0 0.0 9.1 38.8 22.3 20.7 0.0 9.1
E# 24 0 5 10 5 1 0 3
% 100.0 0.0 0.0 20.8 41.7 20.8 4.2 0.0 125
B 27 0 6 9 6 2 0 4
% 100.0 0.0 0.0 22.2 33.3 22.2 74 0.0 14.8
E# 24 0 8 9 4 1 0 2
% 100.0 0.0 0.0 33.3 37.5 16.7 4.2 0.0 8.3
B 19 0 6 5 2 3 0 3
% 100.0 0.0 0.0 31.6 26.3 10.5 15.8 0.0 15.8
E# 10 0 3 3 2 0 0 2
% 100.0 0.0 0.0 30.0 30.0 20.0 0.0 0.0 20.0
B 36 0 3 17 3 6 0 7
% 100.0 0.0 0.0 8.3 47.2 8.3 16.7 0.0 194
E# 23 0 1 9 5 6 0 2
% 100.0 0.0 0.0 4.3 39.1 21.7 26.1 0.0 8.7
B 18 0 6 9 2 1 0 0
% 100.0 0.0 0.0 33.3 50.0 11.1 5.6 0.0 0.0
E# 28 1 ) 13 4 0 0 3
% 100.0 0.0 3.6 25.0 46.4 14.3 0.0 0.0 10.7
B 49 0 34 10 4 0 0 1
% 100.0 0.0 0.0 69.4 20.4 8.2 0.0 0.0 2.0
E# 48 0 24 14 4 0 0 6
% 100.0 0.0 0.0 50.0 29.2 8.3 0.0 0.0 125
B 40 0 23 11 2 1 0 3
% 100.0 0.0 0.0 57.5 27.5 5.0 2.5 0.0 7.5
E# 23 0 10 8 4 0 0 1
% 100.0 0.0 0.0 43.5 34.8 17.4 0.0 0.0 4.3
B 24 1 10 8 4 1 0 0
% 100.0 0.0 4.2 41.7 33.3 16.7 4.2 0.0 0.0
E# 11 0 6 3 2 0 0 0
% 100.0 0.0 0.0 54.5 27.3 18.2 0.0 0.0 0.0
B 15 0 6 7 0 0 0 1
% 100.0 6.7 0.0 40.0 46.7 0.0 0.0 0.0 6.7
E# 12 0 6 4 2 0 0 0
% 100.0 0.0 0.0 50.0 33.3 16.7 0.0 0.0 0.0
B 15 0 2 8 3 0 0 2
% 100.0 0.0 0.0 13.3 53.3 20.0 0.0 0.0 13.3
E# 39 0 5 23 5 1 0 5
% 100.0 0.0 0.0 12.8 59.0 12.8 2.6 0.0 12.8
B 24 0 ) 12 4 0 0 1
% 100.0 0.0 0.0 29.2 50.0 16.7 0.0 0.0 4.2
E# 29 0 12 9 4 4 0 0
% 100.0 0.0 0.0 41.4 31.0 13.8 13.8 0.0 0.0
B 43 0 13 18 6 3 0 3
% 100.0 0.0 0.0 30.2 41.9 14.0 7.0 0.0 7.0
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AERXEAFERFEEORBEY (HE—EE KERZE)

W | o5& | 264 | 274 | 284 | 204 | 304& | 314 | NE
—s8 EH 22 0 1 7 7 1 4 0 2
-=T % 100.0 0.0 45 31.8 31.8 45 18.2 0.0 9.1
— EH# 11 0 1 3 5 2 0 0 0
e % 100.0 0.0 9.1 27.3 455 18.2 0.0 0.0 0.0
. EH 24 0 0 8 10 3 0 0 3
AR % 100.0 0.0 0.0 33.3 417 12.5 0.0 0.0 12.5
EH# 26 0 0 7 13 2 1 0 3
A BT % 100.0 0.0 0.0 26.9 50.0 7.7 3.8 0.0 115
EER EH 28 0 0 12 11 2 1 0 2
et % 100.0 0.0 0.0 429 39.3 7.1 3.6 0.0 7.1
e | EH 22 0 0 5 5 5 4 0
e % 100.0 0.0 0.0 22.7 22.7 22.7 18.2 0.0 13.6
e | ER 18 0 0 1 3 4 3 1 6
AR % 100.0 0.0 0.0 56 16.7 222 16.7 56 33.3
& 1 1 EH# 14 0 0 4 4 4 1 0 1
gt % 100.0 0.0 0.0 28.6 28.6 28.6 7.1 0.0 7.1
s | EHK 13 0 0 4 5 2 0 0
SRA % 100.0 0.0 0.0 30.8 385 15.4 0.0 0.0 15.4
s | EH 19 0 0 10 7 2 0 0 0
LR % 100.0 0.0 0.0 52.6 36.8 10.5 0.0 0.0 0.0
rER EH 18 0 0 8 7 3 0 0 0
B % 100.0 0.0 0.0 44 4 38.9 16.7 0.0 0.0 0.0
WO R EH# 15 0 0 4 8 2 1 0 0
B % 100.0 0.0 0.0 26.7 53.3 13.3 6.7 0.0 0.0
o EH 14 0 0 0 2 3 7 0 2
e % 100.0 0.0 0.0 0.0 14.3 214 50.0 0.0 14.3
=18 EH# 7 0 0 3 4 0 0 0 0
B % 100.0 0.0 0.0 429 57.1 0.0 0.0 0.0 0.0
BER EH 12 0 0 3 6 2 0 0 1
e % 100.0 0.0 0.0 25.0 50.0 16.7 0.0 0.0 8.3
=41 EH# 17 0 0 5 6 3 0 0 3
e % 100.0 0.0 0.0 29.4 35.3 17.6 0.0 0.0 17.6
= EH 49 0 0 15 16 11 1 0 6
B % 100.0 0.0 0.0 30.6 32.7 224 2.0 0.0 12.2
. EH# 18 0 0 0 15 0 3 0 0
B % 100.0 0.0 0.0 0.0 83.3 0.0 16.7 0.0 0.0
s EH 18 0 0 3 4 7 1 0 3
T % 100.0 0.0 0.0 16.7 22.2 38.9 5.6 0.0 16.7
o EH# 29 0 0 14 9 5 0 0 1
B % 100.0 0.0 0.0 48.3 31.0 17.2 0.0 0.0 3.4
K4y EH 14 0 0 8 5 1 0 0 0
B % 100.0 0.0 0.0 57.1 35.7 7.1 0.0 0.0 0.0
5 18 EH# 20 0 0 4 6 4 1 0 5
mr % 100.0 0.0 0.0 20.0 30.0 20.0 5.0 0.0 25.0
BRE R EH 24 0 1 5 11 5 1 0 1
oo % 100.0 0.0 42 20.8 458 20.8 4.2 0.0 4.2
shi@18 EH# 16 0 0 4 7 0 0 0 5
e % 100.0 0.0 0.0 25.0 438 0.0 0.0 0.0 31.3
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(6) £EXEAFNEREXTEH
@ TH28EFEELEEXEARTBHEEXETES

Tk 28 FEAFXEAGREEETEE (BERZ)

10 5~ | 100 A~ 500 /B 1000 /
21k 0 12&% 1005 | 5005/ | ~1000 | ~3000 3%83?
’ X *x; FAEFH | FAXE

o | EHE| 1158 336 56 160 317 176 38 75
% 1000 29.0 48 138 274 15.2 76 22
s | EE 120 53 g 18 20 10 0 i
BE o 700.0 52.5 6.7 5.0 16.7 83 0.0 08
g |[EH 24 7 3 7 5 | | 0
ARR [Tg 1000|292 125 292 208 %) %) 0.0
azn | EB 27 13 i 2 6 3 5 0
BER Ty 7000 481 37 74 222 71 74 0.0
e | EE 24 5 1 5 6 4 | 1
ST 1000|208 %) 550 250 16.7 %) %)
EH 19 9 i i 5 i 2 0

1|7 =]
RHEE 1~ 1000 474 5.3 53 763 5.3 105 0.0
e | EE 10 7 7 | 5 0 0 0
IR o 1000 200|200 7001 500 0.0 0.0 0.0
- EH 34 14 3 5 7 3 i 0

= =]
‘mER o 7000 412 88 176 706 88 59 0.0
o B 23 12 0 5 3 3 0 0

3 =]
KRR o 700.0 50.2 00 217 13.0 13.0 0.0 0.0
rrm | EE 18 3 7 3 6 7 2 0
=~ % 700.0 16.7 171 16.7 333 171 171 0.0
B 28 5 i 3 6 | 4 0

=]
BER o 700.0 7.9 1.3 786 274 36 123 0.0
EH 49 1 1 9 12 10 7 |

o =]
BER 7o 700.0 82 82 184 286 204 1.3 50
- E5 47 10 3 3 16 5 4 |

=]
TR o 1000 213 6.4 1701 340 10,6 85 71
n EH 39 9 7 i 6 7 12 2
RRH o 7000 231 51 76 154 7.9 308 51
e R 23 I i 5 7 5 7 3
=IN= o 700.0 7.4 43 76,1 87 577 8.7 13.0
\ EH 24 5 i 4 g 3 0 5

§ =]
HRR o 1000 250 %) 16.7 333 125 0.0 83
=un | EE 17 | 0 3 4 | | |
=WR o 700.0 91 00 273 36.4 91 91 91
e | EE 15 i 7 4 5 0 3 0
=~ % 700.0 6.7 13.3 6.7 333 00 200 0.0
mrn | EE 12 | 0 | g | | 0
ST 700.0 83 0.0 83 56,7 83 83 0.0
mn | EE 15 7 7 3 3 0 0 0
=~ % 1000 | 467 13.3 500 200 0.0 0.0 0.0
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